520 ER5KX [EEHmBEAEAER

(BFR/RR] EHELAEVVEHR
F B LRI LRX BEX AL X =AX
—fg hy HE | R P HE| B by HEFE| -8 ke HE| 8 by HEF
100m 9 | 6 9 | 6 3 7 2
200m 6 6 5 4
400m 5 6 9
800m 9 6 4 | 6 7 7 1 2
1500m | 6 9 5 1
3000m 5 6 4 6
5000m | 2 8 10 1
407% ££5000m 6 9 6
507% £ 5000m 5 11 5
4x100mR| 5 4 6 | 5 3 | 2 4 6 3
E=B | 6 9 1 5 |
ENE Bk 6 11 11 3 1 2 3 5
fahik | 5 6 4 6 |
B 59 | 32 11| 74| 26 11| 14| 8 56 | 26 14| 3 12| 6
BEtER 102 111 22 96 21
JIIE 32 2 1 4 3 5
(ZFH/REK]
F B LRI LRX BB ALK =HX
—fg ey HE | R P HE| B Y HEFE| 8 k¥ HE| 8 Py HEF
100m 5 5 8 8 3 3 5 4
200m 2 6 6 | 6 5 8 9
400m 6 3 1 11 |
800m 1 5 6 75 5 | 11 2
3000m | 2 7 1| 1
4x100mR| 4 4 6 | 5 3 3 5 6 2 | 2
EmB | 8 10 2 1|
E =Bk 6 | 10 11 3 8 3
AR | 11 4 1 2 | 3
B 45 | 30 61 | 22 22 | 19 51 | 30 8 2
BEtER 75 83 41 81 10
JIE {2 3 1 4 2 5
€N=xCI=E.)
B LRI LRX BEX B X TAX
BFBH 102 111 22 96 21
tc%’a,“ 75 83 41 81 10
N =Nl 177 194 63 177 31
ﬁ{sna)uu\ 3 1 4 2 5
1R AE6 1RIAE9




#6520 ERARELFRERRE ilg—E

[8F]

2014488 17H IR NELHES
I IFNIR-IER-BfiX-RAIR-ZEAR RAFRS - EH-BHEEEEEEES IE EARELHERBE
1 5 2 5 3 £ 4 B 5 i 6 5
B K4 EE 4 K4 F0ER K4 EE 4 K4 RO K4 F0ER K4 FOER%
il EE FiE EE B EE il A& FiE EE B A&
100m BE fE— 10.87 K F& 10.95 He ¥t 11.02 M B 11.15 EH 8% 11.22 TN #E 11.40
IR -0.2 IERR -0.2 IERR -0.2 IR -0.2 BIRX -0.2 BiIK -0.2
200m He 22.28 INRBEXBA 22.60 =5 A 22.67 TN #E 22.72 LR Kih 23.01 AH D 23.30
IERR -0.6 BHRX -0.6 IR -0.6 BIX -0.6 AR -0.6 BIX -0.6
400m WE R 49.38 gk @K 51.55 INFR 52.32 Al BAA 53.63 HE MHN 54.00
g = — BIX - BIX - IR - IR -
800m HO #z 1:57.16 2z % 1:5095 | £ A KiE 2:01.93 | EH EH 2:02.26 #=H M 2:05.14 | HER &I 2:06.50
IR - BIiX - IHRR - IR - BIR - SRR -
1500m HO #2 4:06.23 2/ KiE 4:13.82 & & 4:17.86 R FIia 4:20.64 =if thth 4:23.62 e BX 4:26.92
IR - AIREKX - AIEKX - BIX - BIiIRX - SHKX -
—| s000m KF BFE 15:23.17 | A% BB— 154883 | K& & 16:11.67 B £ 16:5091 | =& EF 165820 #HLR % 17:31.79
P BIRX — AERX - BIRX — AIERX - IR - =HEX -
IR IR BIX B
wE E LR Kih EH 8% F@E B
4%x100mR| #HA BE 4221 BE BE— 42.40 TnEE ik 43.26 A &3 44.66
Ho &t =18 A AE D INREER B
BR FEAER M R TR L e Kih
=0 A it 2m00 @ BN 1m90 M= thil 1m90 | HHE 3EKER 1m80 X & 1m75 18 1m70
i g = - RBILX = IR - AIERX = AR - B2 -
EiEBU AR EAXEE  6m75 HE Bk 6m48 =i I 6m34 25 - 6m07 Hik B 6m02 #mAR BEX 5m37
IERR -0.6 IERR -0.6 IR -0.7 BIX -1.0 AR -0.9 B -1.0
mAET kE —R 12m24 IWE FEE 12m04 R EZ 11m31 W ths 10m65 BTEH #£A 10m11 INE FIR Tm79
IHEEKX — BILX — B — IR — IR — BILX —
100m MR ERK 11.80 =i BE 11.84 ki Bt 11.86 FiEE K& 11.89 AR & 12.03 fll EFth 15.87
AIEKX -1.7 AR -1.7 BIiIRX -1.7 BIX -1.7 SHX -1.7 AR -1.7
800m £H# BUT 2:04.16 na X 2:05.26 BN feF 2:05.33 =H B 2:06.23 | R Foth 2:06.37 | KiI FnRE 2:06.60
AIERX — IR - BIRX - BIRX - =HEX - IR -
3000m B BE 9:16.07 WE g 9:22.30 | #5K FEXBER  9:39.07 b B 9:46.38 | =F8&F BAK 94754 | #L #BX 10:08.66
th BILX — pa g = - B — IR - IR - IERX -
s BiIRX IHRKX AR SHKX B
EE B3 FEB BRK XH EE INTE BER PR R
4x100mR| ## HE 44.79 EH it 44.94. K% & 45.65 ER FE 46.19 ki —& 46.50
£k Bt gk XKE aE BE A =i BAIR 5=
NE f£3} #HE E Hik FERA ED B A K&
EiEBU BT B 6m19 NG ks 6m01 W B 5m88 | {E@E MEER  5m69 ¥ B 5mb4 EBE #RE 5m51
= IR -0.6 IR -1.0 EAKX -1.6 TIEREK -1.0 BEX -1.3 ERR 0.0
40iF R T BRE 17:00.87 TE B 17:06.01 ML EB— 17:08.90 ® EBE 17:33.42 | HEHEZE  17:39.71 e B F 18:13.32
| 5000m BIRX - IR - EHRX - BIR - EHRX - BIR —
| 508K ZN AR 174196 | HK #%EB 18:42.82 @A & 18:44.95 | INKK E— 19:25.14 D = 19:48.61 | /N#k 3K 19:54.90
5000m IEKX — IEKX - IR — BIRX - BIiIRX - IR —

EHRk X @ ED

RHEIE 2H X ED




%520 ERARELHRARE BE—EX

201448H17H

[(%F]

IR LIS

I IFNR-IRER-BEHX-BIR-ZARXR RAFTHRS ZH-BfitEREAEZTEFEES TE SHRELHEERBE
1 3 2 3 3 fiE 4 i 5 o 6 i1
b= K4 Bk K4 EE K4 Bk K% EREE K% EREE K4 EEE
il AR g AE g AR g A g A g e
100m SH =FMW 1314 2 Mol 1343 e #F 13.49 EW K 13.74 =l =F 13.86 TR #HhF 14.00
AIERX -2.0 BIX -2.0 IR -2.0 B -2.0 AIRK -2.0 IR -2.0
200m 0O #HEE 2617 BEH BEF 26.54 B B 26.74 EJTETES 27.98 EI K 28.54 Wiz = 28.87
IEREK -2.0 BIX -2.0 B -2.0 BIKX -2.0 IR -2.0 B -2.0
400m D & 1:00.08 =k & 1:0044 | % ZiE%E  1:.0545 | & F KME 1:0631 | #&HA FF 1:06.57 | /ME ERE 1:07.06
BIKX — BIKX - AIFRIIRE - IERX - AR - B -
800m =fE EMW 2:13.09 A+ & 21315 | HHEAME 22636 | ¥ EXE 2:28.30 | LK HIF 2:33.35 | L FIH 2:38.02
IRE — RIX - B — B — =HKX — IR —
3000m Hh FF 10.30.45 He EF 103359 | #®E #&FF 103376 | AA™H #FiF 104455 [EAR BAHE 105661 | KM E=ZE 11.08.24
_ RIX — RIX — IRRK — AIRRK — IR — =HRX —
P IREK BIX IRIINEX B =HX
INAR BTE #}RK B EN X ik E s 44
4x100mR| 0O #MEFE 4963 B #hkF  51.03 TR HF 51.71 K EXK 52.93 i BAE 55.12
=E =¥ i & N X 5 EfE #]mRK BX
SH EFN B H KF ey 855 B =B AL BE
E£Z U W OFK 1m68 WRE #FHAH 1m56 | JEE L3 H, 1m53 | A#HE #HX  1m50 INK BRR 1m45 A EEF 1m40
= SIEK — SIFNIR - SIEK - IRNIK - B - BIK -
EIEB AR B& 5m08 BEn HFxE 5m02 tE 7E 4m68 hig B&F 4m53 #]BK X\ 4m49 SR ¥ 4m37
AIERX 0.7 AIERX -0.4 IR 1.2 BIKX -0.1 IR -0.5 BIX -0.1
R iE Bt EF 10m23 G EF 9m97 BEX & 9m50 NI BBF 9mo1 JGE N 8m63 ZR A= 8m50
IR — IR — IIEEX — =HEX — BILX — B —
100m mH BE 13.14 £F EIxE 1323 FH EE 13.40 B vUE 1358 R B 13.69 =ik Y DNS
TIEREK 0.3 IR 0.3 BiIK 0.3 B 0.3 TIEREK 0.3 BiIK 0.0
200m JIA &R 26.72 ME Bx 27.51 g IREF 2764 AEUND 2807 [{E4K BB 28.12 WHF EAF 2833
RIX 0.6 AR 0.6 IRRK 0.6 RIX 0.6 AIRK 0.6 IRIINEX 0.6
800m HO #&7 21973 | EANEE 22161 | #EkE AZXF 22187 | AE HHY 2:24.72 #H T& 22557 | AB Fn 2:26.25
o RIX — RIX - IEIIRX — B — B — AR —
= RIX IRE IR B =HKX
B B R B HH B B #E BR7 AR
4x100mR| AEUVMNB 51.20 B JIREF 51.25 £F HIX 5140 He &% 53.20 B F#EL 55.68
TEH BE E”AK BAEH Wk EaF AKH =4 kB ABE
JIIAR K HE BE ME B B VUE HE MK
EIEH INE D EE 5m07 &)l BEH 4m93 HwmH B 4m86 | EHE VUE  4m72 wE 2 4m63 BA #£F 4m62
i IENX 0.9 B&X 0.1 SIENIX 17 EHX -0.3 THK 0.0 THK 0.4

BEHR X R ()

REERE 5 X D)



